
КЛЮЧИ К ВАРИАНТАМ 
 

ВАРИАНТ № 1 
 

№1 (14 баллов). 
T=2gm1m2/(m1+m2)=21H;        to=√(2h/a)= 0,5c;       h*=h(1+ a/g)=70см;       hmin =Hg/(2g+a)=1,5м. 

 
№2 (14 баллов). 

Vо=√(2al)= √5 м/с ≈ 2,24 м/с; 
V1= Vo(m1−m2)/(m1+m2)= ≈ 0,75 м/с; V2= 2Vom1/(m1+m2)= ≈ 3,0 м/с 

h2=V2
2 /2g= 45 cм;         V* = (m1V1−m2V2)/(m1+m2) = −0,5 м/с. 

 
№3 (16 баллов). 

v=[2gRM/(m+M)] ½ = 2 м/с;    V=vm/M=0,4 м/с;   Δх =Rm/(m+M)=4см;   
 N = m[g+(v+V)2/R] = mg(2m+3M)/M =1,36H. 

 
№4 (10 баллов). 

Nmax = π / φ  
 

№5 (11 баллов). 
Pпара = 0,4 атм;        ρпара= 0,6 ρf

100 = 0,24 г/л. 
 

№6 (11 баллов). 
 
 

P P V  
η = 8 / (1,5·24+20) ≈ 1/7 ≈ 14%. 

 
 TV T

 
 

№7 (14 баллов). 
Lν=Lo√ν/3=2Lo /3 

 
№8 (10 баллов). 

ro = (R1R2)
 ½ = 4 Ω;      Rx=ro=4 Ω;      Tx= 16минут. 

 
 

ВАРИАНТ № 2 
 

№1 (14 баллов). 
T=2gm1m2/(m1+m2)=4,8H;        to=√(2h/a)= 1c;       h*=h(1+ a/g)=120см;       hmin =Hg/(2g+a)=1,5м. 

 
№2 (14 баллов). 

Vо=√(2al)= √20 м/с ≈ 4,5 м/с; 
V1= Vo(m1−m2)/(m1+m2)= ≈ 1,5 м/с;        V2= 2Vom1/(m1+m2)= ≈ 6,0 м/с 

h2=V2
2 /2g= 1,8м;         V* = (m1V1−m2V2)/(m1+m2) = −1 м/с. 

 
№3 (16 баллов). 

v=[2gRM/(m+M)] ½ = 2 м/с;    V=vm/M=0,5 м/с;   Δх =Rm/(m+M)=5см;    
N = m[g+(v+V)2/R]= mg(2m+3M)/M =1,4H. 

 
№4 (10 баллов). 

 φmax ≥ π 
 



№5 (11 баллов). 
Pпара = 0,2 атм;        ρпара= 0,6 ρf

100 = 0,12 г/л. 
 

№6 (11 баллов). 
 
 

P V P  
η = 8 / (1,5·24+12) ≈ 1/6 ≈ 17%. 

 
 TV T
 

№7 (14 баллов). 
Lν=Lo√ν/5=3 Lo/5.   

 
№8 (10 баллов). 

ro = (R1R2)
 ½ = 6 Ω;      Rx=ro= 6 Ω;      Tx= 8минут. 



КЛЮЧИ К ВАРИАНТАМ 
 

ВАРИАНТ № 3 
 

№1 (14 баллов).  
х1=40см;       vo = (v1+v2)/2 = 1м/с;    ao = (a1+a2)/2 = 2,5м/с2;      

ωo = (v2 − v1)/2R = 4 рад/с;    εo = (a2 − a1)/2R = 2 рад/с2;   против часовой. 
 

№2 (8 баллов).  
TН= TЗ·(RН/RЗ)3/2 ≈ 164 года. 

 
№3 (16 баллов). 

   Т1 = 20Н;    Т2 = 52Н;          Т*1 = 15Н;          Т*2 = 39Н;    N = 12Н.             
 

№4 (18 баллов). 
V1= vтm/M1 = [2ghm2/M1(m+M1)] ½ = 0,8м/с;    

h* = (vт)2M2 /2g(m+M2) = 0,64м;              
V2=2vтm/(m+M2) = 0,8м/с. 

 
№5 (14 баллов). 

Fmin > g·(μ2 + μ1)·(m1 + m2) = 60H. 
 

№6 (11 баллов).  
p1

пара = 0,6 атм;        ρ1
пара= 0,6 ρf

100 = 0,36 г/л.  
 
 

№7 (11 баллов).  
 
 

P P

V

V 

TT

 
 

η = 16 / (1,5·34+28) ≈ 0,20 ≈ 20%. 
 
 
 
 
 

 
№8 (8 баллов).  

P1 = 2PoT*/(To+T*);    P2 = 2PoTo /(To+T*). 
 

 
ВАРИАНТ № 4 

 
№1 (14 баллов).  

х1=12см;       vo = (v1+v2)/2 = 0,3м/с;   ao = (a1+a2)/2 = 0,75м/с2;      
ωo = (v2 − v1)/2R = 2 рад/с;     εo = (a2 − a1)/2R = 5 рад/с2;   по часовой. 

 
№2 (8 баллов).  

TC= TЗ·(RC/RЗ)3/2 ≈ 31,6 лет. 
 

№3 (16 баллов). 
Т1 = 140,6Н;    Т2 = 1594Н;          Т*1 = 112,5Н;          Т*2 = 127,5Н;    N = 15Н. 

 
№4 (18 баллов).  

V1= vтm/M1 = [2ghm2/M1(m+M1)] ½ = 1м/с;    
h* = (vт)2M2 /2g(m+M2) = 4,4cм;             

 V2=2vтm/(m+M2) = 0,75м/с. 
 
 



№5 (14 баллов). 
При  (μ2/μ1) ≥ (m1 + m2)/m2  получаем:  Fmin > g·(μ2 − μ1)·(m1 + m2)·m2 /m1 = 120H. 

 
№6 (11 баллов).  

p1
пара = 0,4 атм;        ρ1

пара= 0,4 ρf
100 = 0,24 г/л. 

 
№7 (11 баллов).  

 
 
 

P P

V

V 

TT 

 
 

η = 16 / (1,5·34+22) ≈ 0,219 ≈ 22%. 
 
 
 
 
 

№8 (8 баллов).  
P1 = 2PoT*/(To+T*);      P2 = 2PoTo /(To+T*). 
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